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57 L 9 12 12 6 8 9 56 1
e |aEEE 2 2 10 14 9 8 45 2
bEE |FL=% 2 9 8 2 0 5 26 3
£H BEAMF 1 3 4 4 4 7 23 4
JbiEE  |BIKE I 2 0 1 8 7 4 22 5
biEE  |FArEmE 2 5 2 2 5 6 22 6
timE  |ithE 4 2 1 1 6 1 15 7
£H RHHE 0 0 6 8 0 0 14 8
R [faESN=] 7 6 1 0 0 0 14 8
s |HhR%E 2 1 2 2 3 2 12 10
BE FRAT N 5 7 0 0 0 0 12 10
£H RSN 6 6 0 0 0 0 12 10
R NGB 0 1 6 4 0 0 11 13
=F BE T 9 0 0 0 0 0 9 14
e A\F# 0 1 2 1 0 3 7 15
L3 Jbit 0 0 0 2 2 1 5 16
R EARE 0 0 1 3 0 1 5 16
RH FIBHE 4 1 0 0 0 0 5 16
R AIRAI AL 0 0 2 1 0 0 3 19
JbiEE | 1 1 0 0 0 0 2 20
=F BRI R 0 0 1 1 0 0 2 20
BE ZI& 0 0 1 1 0 0 2 20
R Fiy . 1 1 0 0 0 0 2 20
% MATE 1 1 0 0 0 0 2 20
3= B 1 1 0 0 0 0 2 20
=871 E<pld 1 0 0 0 0 0 1 26
e ITEti=a0 0 0 0 0 0 1 1 26
JbiE  |SIBKEREE 0 0 0 0 0 0 0
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e |Ex 0 0 0 0 0 0 0

e | IR 0 0 0 0 0 0 0
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ZHH, £ 0 0 0 0 0 0 0

B3 Tk 0 0 0 0 0 0 0

ZH KEE 0 0 0 0 0 0 0

B3 ZH, 0 0 0 0 0 0 0

WA H¢RAlE 0 0 0 0 0 0 0

HE5 WAL F 0 0 0 0 0 0 0




5 1B 0 0 0 0 0 0 0
BE S AR 0 0 0 0 0 0 0
BE k] 0 0 0 0 0 0 0
R H T K595 0 0 0 0 0 0 0
th % = H 0 0 0 0 0 0 0
=B mILRE 0 0 0 0 0 0 0
I B R 0 0 0 0 0 0 0
A LEHEEE 0 0 0 0 0 0 0
N IR 0 0 0 0 0 0 0




